Econ 203/Test 6 (Put name on scantron)
1.  The size of U.S. Public Debt (total: both held by the public and by government) is about

a. $700B
b. $3T

c. $8T

d. $14T
2. From an “optimal finance” standpoint, debt 

a. permits the a country to create more resources 

b. permits the smoothing of spending when tax revenues are uneven

c. permits countries to avoid the constraints that individuals and companies face on raising money

d. none of the above

3. According to the table presented in the St. Louis Fed article, foreign countries or individuals within foreign countries own about what percentage of U.S. debt (that is not held by the U.S. government itself):

a. 50%

b. 25%

c. 10%

d. 5%

4. States such as Kentucky face future fiscal (revenue-spending) problems due to

a. lack of funding for promised public pension payments

b. overbuilding of road systems

c. very low tax rates

d. all of the above

5.  Which describes the Social Security and Medicare systems in the US?
a. shifts in birth rates over time have contributed to upcoming problems
b. current workers payments are used to pay current retiree benefits
c. the long run underfunding of future payments is over $50 trillion
d. all of the above 
6.  Which of the following would help resolve or diminish the Social Security & Medicare problems:
a. increases in life expectancy
b. decreases in the share of government spending going toward social security and medicare

c. increases in the share of national income going toward government spending

d. all of the above
7.  The fiscal problems facing the U.S. over the next 10 years 

a. reflect longstanding unwillingness to deal with Social Security and Medicare

b. reflect projected deficits of $500B to $1T per year

c. will be eliminated by raising income tax rates by about 5% per household

d. will likely result in an “inflation tax” 

8.  In our class discussion of rising medical care prices and share of income devoted to medical care, we discussed several influences.  One of these influences was  

a. rapid growth in the overall number of physicians per person  

b. advances in quality of care   

c. slow income growth 
d. none of the above 

9. Medical insurance

a. tends to increase use of medical services because of reduced costs to users at point of service

b. lowers overall costs of medical services because the price is lower to users at point of service

c. has covered most all medical expenses since about 1900 in the U.S.

d. none of the above
10. Data and comparisons of percent spent on health care from which of the following country pairs  illustrates our point of the main influence on this percentage:

a. U.S. and Canada

b. Germany and Burundi

c. France and Belgium

d. Japan and U.S.
11. Countries that make health care free or nearly free to the user 
a. experience higher quality care 

b. experience longer waiting times for key procedures

c. include most of the poorest countries of the world

d. none of the above

12.  Which of the following accurately describes a relationship between GDP and medical care spending?

a. The percentage of GDP taken up by medical care in the U.S. is currently about 10% 

b. The percentage of GDP used on medical care tends to be higher in countries with higher incomes 

c. The U.S. spent about the same percentage of GDP on medical care in 1980 as today

d. none of the above

13.  Placing a cap on the percentage of GDP devoted to medical care   

a. lowers the cost of medical care by eliminating costly competition

b. essentially makes medical resources free to society as a whole

c. can only be effective if the use of medical resources is actually limited significantly

d. all of the above

14.  Mexico’s GDP per capita is close to

a. $5000 per year

b. $9000 per year

c. $13,000 per year

d. $17,000 per year

15. For much of the 20th century, which of the following limited Mexican economic growth:

a. lack of natural resources



b. trade with the United States

c. national planning and ownership of many economic businesses and industries

d. all of the above
16.  The basic economics of the drug-related violence can be described as

a. high demand, restricted supply, high prices, and competition for high profits

b. low demand, high supply, and competition for profits among violent groups

c. high levels of poverty, few natural resources, and few employment alternatives

d. negative effects of the NAFTA agreement of the early 1990s

17. From a macroeconomic perspective, the extreme violence of M drug-related criminal organizations in Mexico threatens long run economic growth by

a. destroying large amounts of Mexican natural resources

b. large reductions in the size of the labor force

c. increases in the amount of trade with the United States

d. lack of protection for life/property rights

18.  The state-owned oil company in Mexico is

a. MEXOIL

b. PEMEX 
c. CITGO

d. none of the above
19.  The current drug related violence in Mexico resulted from

a. a 2006 crackdown by the Mexican government on drug cartels

b. the initiation of tighter border controls into the U.S. around 2007

c. the building of villa on the Rio Grande River by a top Mexican drug boss in 2004

d. none of the above 
a. 3

b. 7

c. 14

d. 29

20.  Both our class discussion and the video on the “Narco War” in Mexico highlighted the violence in which Mexican city?

a. Monterey

b. Mexico City

c. Juarez

d. Tamaulipas  
21.  Put A for your answer
Correct Answers:  1d, 2b, 3a, 4a, 5d, 6c, 7b, 8b, 9a, 10b, 11b, 12b, 13c, 14c, 15c, 16a, 17d, 18b, 19a, 20c, 21a
